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B.A./B.Sc. Part III (Honours) (1+1+1 Pattern) Examination, 2021 

Subject: Economics 

Paper: VII 

Time: 2 hours         Full marks: 50  

[The figures in the right hand margin indicate full marks. Candidates are required to give 

their answers in their own words as far as practicable. 

দক্ষিণ প্রান্তস্থ ঴ংখ্যাগুক্ষ঱ প্রশ্নের মান ক্ষনশ্নদেলক । পরীিার্েীশ্নদর যর্া঴ম্ভব ক্ষনশ্নের ভা঳ায় উত্তর ক্ষদশ্নে ঵শ্নব।] 

 
First Half 

প্রর্মার্ে 
 (Econometrics and Quantitative Techniques) 

Marks: 25 
মানঃ২৫ 

1. Answer any three questions:     3 X 5 = 15 

যে য োন তিনতি প্রশ্নের উত্তর দোও। 

a) State and explain the assumptions behind the classical linear regression model. 

ক্লোতি যোল িরল ররখ  তরশ্নেিন মশ্নেশ্নল গৃহীি অনুমোনগুতল ব্যোখযো  শ্নরো৷ 

 

b) Consider the model Yi = β1 + β2 Xi + Uiwhere Y= Gross Domestic Saving and  X = 

Gross Domestic Product  then what will be the courses of action to be followed 

in estimating the two regression parameters. 

 

Yi = β1 + β2 Xi + Ui যযখ্াশ্নন Y = গ্র঴ য াশ্নমক্ষিক য঴ক্ষভং঴ এবং X =গ্র঴ য াশ্নমক্ষিক যপ্রা াক্ট । 

এশ্নিশ্নে তরশ্নেিন প্যোরোতমিোরগুতল তনর্঱শ্নের প্দ্ধতি ব্র্঱নো  র । 

 

 
c) Define adjusted R2. Explain the relation between R2 and adjusted R2. 

এ্যেজোশ্নেে R2 ত  ? R2ওএ্যেজোশ্নেে R2এ্র মশ্নযয িম্প ঱ ব্যোখযো  শ্নরো৷ 
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d) What do you mean by Heteroscedasticity? Explain the sources of 

Heteroscedasticity.       

যহশ্নিশ্নরোশ্নেেোতেতিতি ব্লশ্নি ত  যব্োঝ ? যহশ্নিশ্নরোশ্নেেোতেতিতির িমিযো উদ্ভশ্নব্র তপ্ছশ্নন  োরনগুতল 
আশ্নলোচনো  শ্নরো৷ 
 

e) Derive the time path of market price in Cobweb Model. 

 ব্ওশ্নেব্ মশ্নেশ্নল ব্োজোর দোশ্নমর িমে-িরর্ী তনর্঱ে  শ্নরো৷ 

 

 

2. Answer any one question from the followings:                        1 x 10 = 10 

যেশ্ন োনও এ্ তি প্রশ্নের উত্তরদোও: 

a)  What is the full form of BLUE? Show that the OLS estimates of the parameters 

in a two variablelinear regression model are BLUE. 

 
BLUE র পূ্র্঱ রূপ্তি তলখ৷ যদখোও যে এ্ তি তি চল  তব্তিষ্ট িরল ররখ  তরশ্নেিন মশ্নেযলর 
প্যোরোতমিোরগুতলর OLS এ্তেশ্নমিগুতল BLUE ৷ 
 

b) Derive the OLS estimates of the parameters in a three variable(one dependent 

and two independent variables) linear regression model. 

 
দুতি স্বোযীন ও এ্ তি তনর্঱রিীল চল  িমৃদ্ধ িরল ররখ  তরশ্নেিন মশ্নেশ্নলর ঢোল িহগগুতলর OLS 
এ্তেশ্নমি তনর্঱ে  শ্নরো৷ 
 

c) Derive the complete solution of the first order linear non homogeneous 

difference equation Yt= a + b Yt-1 + I0 and explain the dynamic stability of 

equilibrium in commodity market on the basis of Keynesian consumption 

function where Yt is the aggregate supply at time period t and I0 is fixed 

investment expenditure.  
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Yt = a + b Yt-1 + I0  এ্ই ফোে঱ অে঱োর লীতনেোর নন্  যহোশ্নমোতজনীেোি তেফোশ্নরন্স িমী রনতির 
িমূ্পর্঱ িমোযোন তনর্঱ে  শ্নরো এ্ব্ং য ন্সীে যর্োগ অশ্নপ্ক্ষশ্ন রিোশ্নপ্শ্নক্ষ দ্রশ্নব্যর ব্োজোশ্নরর র্োরিোশ্নমযর 
গতিিীল স্থোতেশ্নত্তর তব্ষেতি ব্যোখযো  শ্নরো৷ 

 
Second half 
তিিীেোয঱ 

Public Economics and Environmental Economics 
Marks: 25 
মানঃ২৫ 

 
1 Answer any Three questions from the following:    5 × 3 = 15 

যযশ্নকানও ক্ষেনক্ষি প্রশ্নের উত্তর দাওঃ 

a) Discuss the economic effects of public debt. 
঴রকারী ঋশ্নণর ঄র্েননক্ষেক ফ঱াফ঱গুক্ষ঱ অশ্ন঱াচনা কর । 

b) Explain why environment is a public good. 
পক্ষরশ্নবল যকন গণদ্রবয ো বযাখ্যা কর । 

c) Explain how tax reduction increases national income. 
কশ্নরর হ্রা঴ ক্ষকভাশ্নব োেীয় অশ্নয়র বৃক্ষি ঘিায় বযাখ্যা কর । 

d) Explain how WTP is linked to use-value and non-use value of a good 
বযব঵ার মূ঱য এবং ঄বযব঵ার মুশ্ন঱যর ঴শ্নে WTP ক্ষকভাশ্নব েক্ষিে ো বযাখ্যা কর । 

e) Outline the steps needed to reduce environmental pollution in developed countries. 
উন্নে যদলগুক্ষ঱শ্নে পক্ষরশ্নবল দূ঳ণ কমাশ্ননার েনয কী কী পদশ্নিপ যনওয়া প্রশ্নয়ােন ো যরখ্াক্ষয়ে কর। 

2 Answer any One question:      10 × 1 = 10 
যযশ্নকানও একক্ষি প্রশ্নের উত্তর দাওঃ 

a) Compare between income and expenditure as alternative base of taxation. 
কর দাশ্ননর ক্ষভক্ষত্ত ক্ষ঵঴াশ্নব অয় এবং বযশ্নয়র মশ্নর্য েু঱নামূ঱ক অশ্ন঱াচনা কর । 
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b) How can you ensure price stability through fiscal policy? 
রােস্বনীক্ষের মার্যশ্নম দাশ্নমর ক্ষস্থক্ষেলী঱ো েুক্ষম ক্ষকভাশ্নব ঴ুক্ষনক্ষিে করশ্নব ? 

c) Give a brief outline of the prolonged North-South debate in reducing carbon 
emission in respective countries. 
঴ংক্ষিষ্ট যদল ঴মূশ্ন঵ কাবেন ক্ষনঃ঴রণ হ্রাশ্ন঴র বযাপাশ্নর দীঘেকা঱ীন উত্তর–দক্ষিণ ক্ষবেশ্নকের ঴ংক্ষিপ্ত ক্ষববরণ 
দাও । 

 

 


